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Suppose that you use a graphin
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colculcﬁor to deterpjine a Ilnedr regression equation for some

data. The calculator produces a correlation coefficient of 0.9700513659. Explain what this number

tells you about the data. The oy O\MOSY &){ NS O 0—&{&,\3\""% \N’E

Defermlne whe’rher the points in the scatter plo’r have a positive correlation, a negative correlation,
or no correlation. Then determine which of the values of r you Thlnk is most accurate. Explain why

you chose your answer.
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The Fast Car dealership tracks its automobile sales based on the type of automobile. The graph
shows the percent of sales that were SUVs for the years from 1995 to 2005.
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a. Explain what year is represented by 7 on fhé graph. QO O Py
b. Write the equation of the line of best fit in the graph. Déﬂne your variables and include the
units. - ' .y '
U = I+ 215

c. What does the slope of the line represent in this problem situation?
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4. The Fast Car dealership tracks its autornobile sales based on the type of automobile. The graph \ .
shows the percent of sales that were compact cars for the years from 1995 te 2005. . E N
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a. Use the equation provided to predict the percent of sales that.were.c act carsin the
year 2006. %:-,3\(\\\“333 = (0.322
b. Use the equation provided to predict the year in which the percent of sales that werg,.

compact cars was 111 I\ = —‘5\>¢+\%.?5 -4 N

Sy 1995 + 9 =(2003 -2000

A scientist wonders if you can predict a person's weight at 30 years based on the person's weight at 7
1 year. She uses some medical files to collect the following data.
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a. Create a scatter plot from the data ’rdble. First, Iabel_’rhe axes to represent the independent
and dependent variables. Next, choose the appropriate intervals for your scatter plot. i
Finally, name your scatter plot. **use your own graph paper**




Use a ruler to draw the line that best fits the data on yo(Jr graph in part.{a) Then, write the

equation of your line. Be sure to defipe your variables and include the units.”

What does the y- m’rerc;jp’r of your line >r‘r\leon in terms of the context of ’rhe problem?

I o QD\J‘(‘\Q SIS \\ﬂtkm ouen o 2D kj)uu U}QLLLU i}e WO,
According fo your line, approximately how many pounds does a person gain each year
from the age of 1 year to ’r € oge of 30 years? Explain your reasoning.

P> 1] eae. ~

Use the equation of your llne to predict how much someone who weighs 19 pounds at 1

year will weigh at 30 years | yo onswer reasono le.in.the.conte e problem?
- Tz .8 YN0 = (1 2ort2 | mg
6. You just got your ACT scores. Your composn‘e score wasn't € N expected. You
wonder if you could have predicted your composite score using your GPA. You collect the followmg
data for 10 students from the counseling office.

3.2 18

3.3 S 21

3.1 22 -
3.5 25

3.4 27

3.7 29

38 28

37 . 28

3.9 29

40 29

. e the ordered pairs from the table that e ACT éompo ite score as the dependent
variabte;dhd GPAGs i pe nt variable.

N

ga.

h.

Create a scc:’r’rer plot of the ordered pairs on the grid shown. **Use your own groph paper**
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Use a ruler to draw the line of best fit. Then, write the equation of your line. Define your .
vartobles A= .83y + -4 oty 18T =44l
Use your equation to predict the AEF-compsite score of a student with a GPA of 2.9. Show 4 l

all your work. » \M : F:f C&}(Z‘ Ciﬁ

Use your equation to predict the GPA of a student with an ACT composite score of 20. Show

all your work. : Zo—- ’_Z] %:}X “"’L“ ‘—{“ ?) \

Describe the correlationaf the data displayed jn the graph in port (b). Ex your
reasoning. n\B‘DB\'J?\‘m ‘ i\... = Fi( f‘\(} vy ﬁ) v ‘(\

Suppose that the cormrelation coefficient of ’rhese datais 0. 8672 Explain wi o’r this nygnber tells
you about fhe data.
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tter plot have a positive corelation, a negative correlation, \
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- The data in the table show the cost of ordering DVDs from an online company, Including the flat
shipping fee,
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What is the equation of 1;he line that best fits the data if the number of DVDs, n, is graphed on the
horizontal axis, and the cost, Cis graphed on the vertical axis?
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A baseball coach would like to be able to predict the number of hits his players will get based 6n
the number of times they are at bat. He graphs'some data and determines the line of best fit, The
€quation of the line of best fit is Y =0.32x-20.51, where x is the number of times at bat and yis the

number of hits. How many hits should he expect from q player who is at bat 175 timese Round your
answer to the nearest whole number. ‘

g = 32(13%) - 20.5|
Y= 35,49
Y= 25 e€ B
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10. The data on the graph show the foot lengths and forearm lengths for a group of peoble The line of
best fit for the data is shown. Use the equation of the line of best fn‘ to predlc’f thelengthofa
person'’s forearm if the Ieng’rh of their foot is 8 inches.
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11. A veterinarian student tracks the weight of a kitten, in ounces, from the ogé of 0 to 32 weeks. She
graphs the data and determines the line of best fit is y = 4.03x—~ 3.27, where x is the number of weeks

and y is the number of ounces. How much should she expect a kitten that is 18 weeks old fo weigh?
Round your answer fo the nearest whole number. W= WOA(MEN-3,27

d G\ + .
B assRoWN. What does the value

12. Suppose you perform a linear regression on a graphing cal
of a represent?

D ‘W\Ci S\ope, ..

13. Which of the following is not a possible advantage of using a graph with a break in it?
a. You can see dll the data. V‘\f; ;
You can see the y-intercept. —uow oy D€L x ) ek ¢
¢. You can easily draw a line of best fit. U}>ﬂ e’ CQO Iy
d. You can more easily determine the slope of th £ KJCJ‘(\E—)‘ ' é
14.. Which of the following corelation coefficients would indicate that data are not.very close to
forming a straight line?

a. 0.8979 -
@D 0.08979 & Fur\me":“\ forn \ or - |

c. 0.8979 .
- d. 09785




54 1. \Lxk 2970

W
. 21 1s.2T =4 % . N .
2 % =205 )

15. Joe tracked the height of his Dalmatian puppy from age 13 wéeks to 25 weeks A& graphed the
‘ data and determined the line of best fitis y = 1.12x+ 28.78 where x Iis the age in weeks andyisthe

height in centimeters. How old was the puppy when he was 54 centimeters tallzRound to the
nearest tenth. ' '

16. Suppose that you use @ grobhing calculator to determine a linear régréssion equation for some
data. The calculator produces a comelation coefficient of 0.0034571826. What does this tell you +

aboutthedataz W€ A& o> O CoRelech O N0 A D> Mo
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i7. The data on the graph show the percénts o atal accldents due to speeding and the ages of the
drivers. The liné of best fit for the data is shown. Use the equation of the line of best fit to predict the
age of drivers with 15% fatal qcciden’rs due fo speeding. Round your answer to the nearest

hundredth.
' Driver Age vs. Parcent of Fatal
, -Accidents Due to Spesding
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18. Janetis ’rrcunmg for a marathon. She decides to track her time per mile, i in minutes, for 8 weeks.
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19. A medical student is conducting a study to track boys' weight from age 5 to age 18. The student
graphs some data and determines the line of best fit is y = 1.73zx + 80.13. What does the slope mean

in this situationg

@ The increase in the number of pounds a boy gains each year

b. The decrease in the number of pounds a boy gains each year

c. Theincrease in the number of years for each pound a boy gains
d. The decrease in the number of years for each pound a boy gains

20. Which value of r most accurately describes the .correloﬁon in the graph shown?
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21.
about the datge Xt (o e, CArmey o Shels Qt}‘v\:‘( Une ano =
' an oo e e o € a0y ' . -
3.5 to age 18. THBYTudent

22. A medical student is conducting’a study to track girls~weight from q
graphs some data and determines the line of best fitis y = 0.68x + 97.67. Whic 1 07 The following best

describes what.the y-intercept means in this problem situationg =

a.. The number of pounds gained for each year M :’L'(Q%
'b. The weight of a gifl at age 0 o | Wu&’)
K@ The weight of a girl at age 5 «> bin (4 : .
d. The weight of q girlat age 18 / 0%2 *561&‘

23. Which value of r most accurately describes the correlation in the graph shown?
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